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SSC CHSL Reasoning Mega Quiz 

 

Q1. Word is represented by only one set of numbers as given in any one of the alternatives. The 

sets of numbers given in the alternatives are represented by two classes of alphabets as shown in 

the given two matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and that of 

Matrix-II are numbered from 5 to 9. A letter from these matrices can be represented first by its 

row and next by its column, for example, ‘N’ can be represented by 34, 43, etc., and ‘H’ can be 

represented by 56, 67, etc. Similarly, you have to identify the set for the word ‘FLUTE’.  

एक शब्द को केवल एक सखं्या सटे स ेदशााया जा सकता ह ैजसैा कक नीच ेकदया ह.ै ववकल्पों में कदए गए सखं्याओं के सटे दो वर्णों 

के द्वारा प्रस्ततु ककए जात ेहैं जसैा कक नीच ेकदए गए मटै्रिकस में कदखाया गया ह.ै मटै्रिक्स-I को 0 स े4 तक सखं्या दी गई हैं और 

उसी प्रकार मटै्रिक्स II को 5 स े9 तक सखं्याए ंदी गई हैं. एक वर्णा को पहल ेउसकी पवंि द्वारा किर उसके स्तम्भ द्वारा दशाया जा 

सकता है, उदाहरर्ण ‘N’ को 34, 43 आकद. और ‘H’ को 56, 67 आकद द्वारा दशााया जा सकता ह ैउसी प्रकार आपको शब्द 

‘FLUTE’ के वलए सखं्या सटे ज्ञात करना ह.ै 

 

(a) 22, 77, 13, 88, 21  

(b) 44, 88, 40, 58, 20 

(c) 11, 86, 31, 89, 24  

(d) 33, 95, 04, 67, 23 

 

Q2. Nikhil is father in law of Tara. Tara is the wife of Rahul. How 

is Rahul's brother related to Nikhil? 

वनवखल तारा के ससरु हैं। तारा राहुल की पत्नी हैं। राहुल का भाई वनवखल स ेकैस े

सबंवंित ह?ै 

(a) Brother/भाई 

(b) Father/वपता 

(c) Son/बेटा  

(d) Father-in-law 
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Q3. If a mirror is placed on the line MN, then which of the answer figures is the right image of the 

given figure?  

यकद रेखा MN पर एक दपार्ण रखा जाए, तो वनम्नवलवखत में स ेकौन सा उत्तर वचत्र प्रव्चचत्र कक सही छवव होगी? 

 

(a)   

(b)  

(c)   

(d)  

 

Directions (4-5): A series is given with one term missing. Choose the correct alternative from the 

given ones that will complete the series. 

एक श्रखंला दी गई ह ैवजसमें एक टमा अज्ञात हैं आपको कदए गए ववकल्पों में स ेउस ववकल्प का चयन करना ह ैजो इस श्रखंला को 

परूा करेगा? 

 

Q4. Beijing Olympics, London Olympics, Rio Olympics, ? 

बीजजगं ओलवंपक, लदंन ओलवंपक, ट्ररयो ओलवंपक,? 

(a) Moscow Olympics/ मॉस्को ओलंवपक 

(b) Athens Olympics/एथेंस ओलंवपक 

(c) Tokyo Olympics/ टोक्यो ओलंवपक  

(d) Delhi Olympics/कदल्ली ओलंवपक 

 

Q5. 5, 10, 13, 52, 57, ? 

(a) 285  

(b) 225  

(c) 342  

(d) 390 
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Q6. In the following question, two statements are given each 

followed by two conclusions I and II. You have to consider the 

statement to be true even if they seem to be at variance from 

commonly known facts. You have to decide which of the 

given conclusions, if any, follows from the given statements. 

नीच ेकदए गय ेप्रश्न में, दो कथन कदए गए हैं वजनके नीच ेदो वनष्कर्ा I और II कदए 

गए हैं. आपको कदए गए कथनों को सत्य मानना ह ैभल ेही व ेसवाज्ञात तथ्यों से 

वभन्न प्रतीत होत ेहों. किर आपको वनिााट्ररत करना ह ैकक यकद कदए गय ेवनष्कर्ों 

में स ेकौन सा कदए गए कथनों का अनसुरर्ण करता ह.ै 

Statements: (I) All hill-stations have a sunset point./ कथन: (I) सभी 

वहल-स्टेशनों का एक सूयाास्त जबंद ुहोता ह.ै 

(II) X is a hill station./ (II( X एक वहल स्टेशन हैं 

Conclusion: (I) X has a sunset point./ वनष्कर्ा: (I) X पर एक सूयाास्त जबंद ुह ै

(II) Place other than hill-station do not have sunset point./ (II) वहल-स्टेशन के अलावा ककसी अचय स्थान पर सूयाास्त 

जबंद ुनहीं ह।ै 

(a) Conclusion I follows/वनष्कर्ा I अनुसरर्ण करता ह ै

(b) Conclusion II follows/ वनष्कर्ा II अनुसरर्ण करता ह ै

(c) Neither I nor II follows/न तो I और न ही II अनुसरर्ण करता ह ै

(d) Both I and II follows/ I और II दोनों अनुसरर्ण करते हैं 

 

Directions (7-8): A series is given with one term missing. Choose the correct alternative from the 

given ones that will complete the series. 

एक श्रखंला दी गई ह ैवजसमें एक टमा अज्ञात हैं आपको कदए गए ववकल्पों में स ेउस ववकल्प का चयन करना ह ैजो इस श्रखंला को 

परूा करेगा? 

 

Q7. BE, HK, NQ, ? 

(a) ST  

(b) TU  

(c) TW  

(d) TS 

 

Q8. ? , YV, BY, FC 

(a) MN  

(b) VS  

(c) XU  

(d) WT 
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Q9. Identify the diagram that best represents the relationship among the given classes. 

उस आरेख को पहचानें जो कदए गए वगों के बीच सबंिंों का सबस ेअच्छा प्रवतवनवित्व करता है 

Stationery, Pencil, Rubber 

स्टेशनरी, पेंवसल, रबर 

(a)  

(b)  

(c)   

(d)   

 

Q10. A piece of paper is folded and punched as shown below in the question figures. From the 

given answer figures. Indicate how it will appear when opened.  

एक कागज़ के टुकड़ ेको मोड़ कर पचं ककया गया जसैा कक नीच ेदशााया गया ह.ै नीच ेकदए गय ेवचत्रों स ेज्ञात कीवजय ेकक खोल े

जान ेपर यह ककस प्रकार का कदखगेा. 

 

(a)  

(b)   

(c)  

(d)   

 

Q11. A word is represented by only set of numbers as given in 

any one of the alternatives. The sets of numbers given given in 

the alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter from these matrices can be 

represented first by its row and next by its column, for example, 

‘F’ can be represented by 32, 42 etc. and ‘M’ can be represented 

by 88, 68 etc. Similarly, you have to identify the set for the word 

‘TEST’.  
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एक शब्द को केवल एक सखं्या सटे स ेदशााया जा सकता ह ैजसैा कक नीच ेकदया ह.ै ववकल्पों में कदए गए सखं्याओं के सटे दो वर्णों 

के द्वारा प्रस्ततु ककए जात ेहैं जसैा कक नीच ेकदए गए मटै्रिकस में कदखाया गया ह.ै मटै्रिक्स-I को 0 स े4 तक सखं्या दी गई हैं और 

उसी प्रकार मटै्रिक्स II को 5 स े9 तक सखं्याए ंदी गई हैं. एक वर्णा को पहल ेउसकी पवंि द्वारा किर उसके स्तम्भ द्वारा दशाया जा 

सकता है, उदाहरर्ण ‘F’ को 32, 42 आकद. और ‘M’ को 88, 68 आकद द्वारा दशााया जा सकता ह ैउसी प्रकार आपको शब्द 

‘TEST’ के वलए सखं्या सटे ज्ञात करना ह.ै  

 
(a) 96, 20, 34, 77  

(b) 58, 30, 69, 79 
(c) 76, 44, 23, 11  

(d) 85, 04, 88, 33 
 

Q12. Kishan is the son-in-law of Rajesh's father-in-law. Rajesh's wife has a younger sister. How is 
Rajesh related to Kishan? 

ककशन राजशे के ससरु का दामाद ह।ै राजशे की पत्नी की एक छोटी बहन ह।ै ककशन राजशे स ेकैस ेसम्बवंित ह?ै 

(a) Brother-in-law/ ब्रदर-इन-लॉ 

(b) uncle/अंकल 

(c) Father/ वपता  

(d) Cousin/कवजन 

 

Q13. If a mirror is placed on the line MN, then which of the answer figures is the right image of the 
given figure?  

यकद रेखा MN पर एक दपार्ण रखा जाए, तो वनम्नवलवखत में स ेकौन सा उत्तर वचत्र प्रव्चचत्र कक सही छवव होगी? 

 

(a)   

(b)   

(c)   

(d)  

− −Matrix I Matrix II

0 1 2 3 4 5 6 7 8 9

0 P S H H E 5 I R B T O

1 D T S L I 6 R I T M S

2 E G T S E 7 R T B I O

3 E L F T S 8 T S B M I

4 L G F S E 9 S T B M O
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Q14. Identify the diagram that best represents the relationship 

among the given classes. 

उस आरेख को पहचानें जो कदए गए वगों के बीच सबंिंों का सबस े अच्छा 

प्रवतवनवित्व करता ह ै

Mammals, Dogs, Humans 

स्तनिारी, कुत्ते, इंसान 

(a)   

(b)   

(c)   

(d)   

 

Q15. A piece of paper is folded and punched as shown below in the question figures. From the 

given answer figures, indicate how it will appear when opened.  

एक कागज़ के टुकड़ ेको मोड़ कर पचं ककया गया जसैा कक नीच ेदशााया गया ह.ै नीच ेकदए गय ेवचत्रों स ेज्ञात कीवजय ेकक खोल े

जान ेपर यह ककस प्रकार का कदखगेा. 

 

(a)   

(b)   

(c)   

(d)   
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Directions (16-19): Select the related word/letters/number from the given alternatives. 

कदए गए ववकल्पों में स ेसम्बवंित शब्द/वर्णा/सखं्या का चयन करें 

 
Q16. Ctrl+X : Cut : : Ctrl+C : ? 
(a) Undo 
(b) Paste  
(c) Redo  
(d) Copy 
 
Q17. DI : M : : CR : ? 
(a) Y  
(b) Q  
(c) P  
(d) U 
 
Q18. TU : MN : : JK : ? 
(a) CD  
(b) RS  
(c) TM  
(d) KL 
 
Q19. 36 : 25 : : 100 : ? 
(a) 81  
(b) 30  
(c) 35  
(d) 40 
 
Q20. A boy travels 4 km towards south and then takes a right turn travels another 3 km in that 
direction. How far and in which direction is he now from his original position? 

एक लड़का दविर्ण की ओर 4 ककमी की यात्रा तय करता ह ैऔर िर दाए ँमड़ु जाता ह ैऔर उसी कदशा में 3 ककमी की यात्रा तय 

करता ह.ै वह अपन ेमलू स्थान स ेअब ककतनी दरू और ककस कदशा में है?  

(a) 6 km, south /6 ककमी, दविर्ण  

(b) 5 km, southwest/5 ककमी, दविर्ण पविम 

(c) 4 km, north /4 ककमी, उत्तर 

(d) 5 km, northwest/5 ककमी, उत्तर पविम 

 
Directions (21-24): Select the related word/letters/number 
from the given alternatives. 

कदए गए ववकल्पों में स ेसम्बवंित शब्द/वर्णा/सखं्या का चयन करें. 

 
Q21. Agra : Yamuna : : Varanasi : ? 

आगरा : यमनुा : : वारार्णसी : ? 

(a) Damodar/दामोदर 

(b) Betwa/बेतवा 

(c) Ganga/गंगा 

(d) Son/सोन 
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Q22. IJ : PR : : ? : SU 

(a) IJ 

(b) LM  

(c) EF  

(d) LI 

 

Q23. CD : IP : : EB : ? 

(a) HI  

(b) KN  

(c) YA  

(d) XY 

 

Q24. 12 : 72 : : 14 : ? 

(a) 98  

(b) 91  

(c) 42  

(d) 60 

 

Q25. Find out the odd word / letters / number / number pair from the given alternatives. 

कदए गए ववकल्पों में स ेववर्म शब्द/वर्णा/सखं्या का चयन करें 

(a) Param Vir Chakra/परम वीर चक्र 

(b) Ashoka Chakra/अशोक चक्र 

(c) Vir Chakra /वीर चक्र 

(d) Maha Vir Chakra/महा वीर चक्र 

 

Q26. Find out the odd word / letters / number / number pair from the given alternatives. 

कदए गए ववकल्पों में स ेववर्म शब्द/वर्णा/सखं्या का चयन करें 

(a) BG 

(b) HN 

(c) SY 

(d) PV 

 

Q27. Find out the odd word / letters / number / number pair from the given alternatives. 

कदए गए ववकल्पों में स ेववर्म शब्द/वर्णा/सखं्या का चयन करें 

(a) 4312 

(b) 4216 

(c) 9218 

(d) 3618 
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Q28. Find out the odd word / letters / number / number pair from the given alternatives. 

कदए गए ववकल्पों में स ेववर्म शब्द/वर्णा/सखं्या का चयन करें 

(a) 64, 23 

(b) 42, 12 

(c) 63, 18 

(d) 83, 20 

 

Q29. A word is represented by one set of numbers as given in any one of the alternatives. The sets 

of numbers given in the alternatives are represented by two classes of alphabets as shown in the 

given two matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and that of 

Matrix-II are numbered from 5 to 9. A letter from these matrices can be represented first by its 

row and next by its column, for example, ‘N’ can be represented by 21, 67 etc. and ‘R’ can be 

represented by 66, 57 etc. Similarly, you have to identify the set for the word ‘TOAST’.  

एक शब्द को केवल एक सखं्या सटे स ेदशााया जा सकता ह ैजसैा कक नीच ेकदया ह.ै ववकल्पों में कदए गए सखं्याओं के सटे दो वर्णों 

के द्वारा प्रस्ततु ककए जात ेहैं जसैा कक नीच ेकदए गए मटै्रिकस में कदखाया गया ह.ै मटै्रिक्स-I को 0 स े4 तक सखं्या दी गई हैं और 

उसी प्रकार मटै्रिक्स II को 5 स े9 तक सखं्याए ंदी गई हैं. एक वर्णा को पहल ेउसकी पवंि द्वारा किर उसके स्तम्भ द्वारा दशाया जा 

सकता ह,ै उदाहरर्ण ‘N’ को 21, 67 आकद. और ‘R’ को 66, 57 आकद द्वारा दशााया जा सकता ह ैउसी प्रकार आपको शब्द 

‘TOAST’ के वलए सखं्या सटे ज्ञात करना ह.ै 

 
(a) 41, 33, 02, 88, 87 

(b) 55, 77, 56, 96, 00 

(c) 87, 02, 11, 86, 55 

(d) 00, 24, 44, 76, 41 

 

Q30. Introducing a boy Rahul says, "He is the son of the brother of the only daughter of my 

maternal grandfather". How is the boy related to the Rahul? 

एक लड़के का पट्ररचय दते ेहुए राहुल कहत ेहैं, "वह मरेे नाना की इकलौती बटेी के 

भाई का बटेा ह"ै। लड़का राहुल स ेकैस ेसबंवंित है? 

(a) Grandfather /ग्रैंड िादर 

(b) Son/बेटा 

(c) Cousin / Brother /कवजन/भाई 

(d) Father/वपता 
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